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QUESTION 1

How many Isilon Job Engine v2.0 components will be present on a single node? 

A. One director 

B. Two managers per job 

C. Two workers per task 

D. Three coordinators 

Correct Answer: A 

 

QUESTION 2

Refer to the Exhibit. 

A storage administrator has an Isilon cluster with the following: 

Five S210 nodes Eight X200 nodes Eight NL400 nodes 

The cluster default protection level is set to N+2n and the administrator has configured the listed file pool policies. A
video capture station saves a new file to /ifs/content/project as intro.mov. 

Which node pool is the intro.mov file written to and which protection level is applied? 

A. NL400_Pool at N+3n protection 

B. S210 _Pool at N+2n protection 

C. X200_Pool at N+2n protection 

D. X200_Pool at N+3n protection 

Correct Answer: B 

 

QUESTION 3
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Which type of issues are resolved by enabling Source-Based Routing on an Isilon cluster? 

A. Asymmetric routing 

B. IP address space depletion 

C. TCP retransmission 

D. SmartConnect load balance 

Correct Answer: A 

 

QUESTION 4

When using SyncIQ on an Isilon cluster, which setting is used to retain deleted files on the target? 

A. Copy 

B. Synchronize 

C. --target-compare-initial sync on the CLI command option 

D. Capture snapshots on the target cluster 

Correct Answer: A 

 

QUESTION 5

You are configuring a five-node Isilon cluster with high-density, NL-Series nodes. You want to minimize 

protection overhead and preserve the required MTTDL requirements. 

Which protection level is most appropriate for this type of cluster? 

A. 2X 

B. N+1n 

C. N+2n 

D. N+2d:1n 

Correct Answer: D 

 

QUESTION 6

How are events communicated from the CELOG daemon? 

A. Sent by the CELOG notifications service 

B. Sent by the MCP 
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C. Sent using SNMP only 

D. Sent over ESRS only 

Correct Answer: A 

 

QUESTION 7

What accurately describes the behavior of On Disk Identity set to native on an Isilon cluster? 

A. A file will be owned by a user\\'s real SID if no real UID exists for that user 

B. All files in shares can only be owned by a SID 

C. All files in exports can only be owned by a UID 

D. User identities must be defined through external authentication providers 

Correct Answer: A 

 

QUESTION 8

Which type of information does the Isilon isi status command provide? 

A. Job engine and critical alerts 

B. Protocol and node statistics 

C. Drive replacement and drive statistics 

D. Drive statistics and hardware condition 

Correct Answer: A 

 

QUESTION 9

What are sources from which an Isilon cluster can obtain authentication data about a user attempting to access the
cluster? 

A. LDAP, NIS, and filedb 

B. FTP, filedb, and samdb 

C. HTTP, LDAP, and samdb 

D. NIS+, HTTP, and NIS 

Correct Answer: A 
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QUESTION 10

Which type of administrator commands does configuration auditing track? 

A. PAPI-enabled commands 

B. Commands run by the "root" user 

C. Commands run by the SystemAdmin and CompAdmin users only 

D. All UNIX, isi, isi_ and sudo commands 

Correct Answer: A 

 

QUESTION 11

On the Isilon cluster CLI, which command will display the most active nodes every two seconds, from highest to
lowest? 

A. isi statistics system --top --nodes --interval=2 

B. isi alert list --newest=2 --nodes=all 

C. isi devices -a status -d 2 

D. isi_for_array -s isi status 

Correct Answer: A 

 

QUESTION 12

On an Isilon cluster running OneFS 7.2 , what is the recommended maximum number of SyncIQ policies per source
cluster? 

A. 50 

B. 100 

C. 200 

D. 500 

Correct Answer: C 

 

QUESTION 13

In an Isilon environment, which physical configuration will enable the internal failover network? 

A. Both int-a and int-b of each node in the cluster must be physically connected to separate switches 

B. Both int-a and int-b ports of each node in the cluster must be physically connected to one switch 
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C. Only int-a ports of each node in the cluster must be physically connected to one switch 

D. Only int-b ports of each node in the cluster must be physically connected to one switch 

Correct Answer: A 

 

QUESTION 14

An organization has two different Isilon clusters: 

Six-node cluster in London, England Eight-node cluster in Paris, France They are using SyncIQ to replicate between the
clusters. Each site has access zones configured and 

SmartConnect Advanced is licensed. 

The organization is actively engaged in a failover from Paris to London. During testing, they realize that users from the
Sales department in Paris are receiving authentication errors from the London cluster. Which step should be taken to
troubleshoot this issue? 

A. Verify that the Sales access zones for Paris are configured on the London cluster 

B. Verify that the Sales access zones for London are configured on the Paris cluster 

C. Verify that the SmartConnect zone for Sales in Paris is set to the system access zone 

D. Verify that the London cluster retained the Paris user list 

Correct Answer: A 

 

QUESTION 15

Which protocol is used for communication between an Isilon InsightIQ virtual appliance and external storage for
monitoring data? 

A. NFS 

B. HDFS 

C. HTTP 

D. SMB 

Correct Answer: A 
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